
Singapore Math Inc. Primary Mathematics Standards Edition 5B Errata

Page Question or Section
22 1(a)
34 1(f)
56 2(a)
123 1(c)
134 14
136 20
138 23(c)
155 3(c)

Page Question or Section
53 9
81 7
165 13(b)

Page Question or Section
325 Answer to Exercise 2 

page 6, 3(f)

Page Question or Section
60 9
113 3(e)

130 5

153 13
216 Units 1-8 Cum. Test B, 

9
217 Unit 10 Chapter  5 

Test A, 5
217 Unit 10 Chapter 10 

Test A, 5
217 Units 1-10 Cum. Test 

A, 6
217 Units 1-10 Cum. Test 

B, 7

Primary Mathematics Standards Edition Workbook 5B
2008 Printing

Primary Mathematics Standard Edition Textbook  5B
2008 Printing

Primary Mathematics Standards Edition Teacher's Guide 5B
2008 Printing

Primary Mathematics Standards Edition Tests 5B
2008 Printing

≈ 5000 ÷ 10
4.75 lb = ____ lb _____ oz
What percentage of his money did he spend on the book?
How many students are there altogether?
The volume of water in an aquarium…
How much money did she have left?
There are ___ points in each interval.
52 qt =

Error

The units at the end of this task for the height should be cm, not cm3.
In the last figure on the right, the horizontal line is a straight line. The other line that crosses the 
Problem as stated does not make sense.                                                                        
Change to 95 – ___ > 18.  Answer is 76.

Error

2

Error

Error

Change last bit to (1 liter = 1000 cm3)
There is insufficient information to solve the problem. In order to get the answers given at the 
back, mark the angle that is marked with an arc as 4 degrees. This does make the figure very much 
off-scale, so it could be marked with some other degrees and the answers changed.

The problem has multiple answers as stated. Change to:                                     
Construct a parallelogram with one angle equivalent to 56° and a diagonal of 11.5 cm which 
bisects that angle. Measure and write down the length of each side of the parallelogram. The 
answer is then about 6.5 cm for both sides.

The correct answer is 153 cm3. This is not given as one of the choices.
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87 Review 9, 10

 
2016

145 Review 12, 14 = 143 in. 2014

169 Review 13, 13(b) Problem in text does not make sense. Both it and answer need to be changed. 
Change problem to 95 – ___ > 18.  Answer is 76.

2012

170 Review 13, 24 16 glasses                                                                                                                     
3 liters will fill 16 glasses

2014

172 Mental Math 1 4.9 + 0.05 = 4.95                                                                                                            
4.95 + 0.05 = 5                                                                                                           
4.982 + 0.05 = 5.032

2011

173 Mental Math 15 Last problem: –72 – 399 = –471 2012
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